————,——— 4

13. Petunia Greenthumb grew 51 snapdragons.
Percival Gardenguy grew 39 Venus flytraps.
How many plants did they grow altogether?

They grew plants altogether.
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14. The Tango Triplets played Pin the Tail on the Fridge.
Tip scored 25 points. So did Tanya. Tiffany scored 26.
How many points did the triplets score altogether?

The triplets scored points altogether.
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15. Mickey Martian has 47 cats in his spaceship. He has 48 dogs.
How many pets does he have in his spaceship altogether?

Mickey has pets in his spaceship altogether.
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16. Rocko sold 77 cans of mixed nuts to the
groundhogs. He sold 17 cans of mixed
nuts to the squirrels. He sold 12 cans of
hair spray to the porcupines. How many
cans of mixed nuts did Rocko sell in all?

Rocko sold cans of mixed nuts in all.
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